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PL5 M 8. A — linearni rovnice |. — 24¢m)

Reste rovnici, nezapomerite na zkousku:

a) 2x+3=3x—2 [4Bx-3 d)11+4x=7-4x [+hx—#
5z -5 [:5 LERV
X”"” l:—gz—;: (f--Dlg)
L (-1 =ACN)+5= 24521 L= trb(L)2H-2=9
PEN=3(N-223250 P4y yy(- ) =hoz=a
L(-1)=PC1) L(-3)=PC4)
b) 0,4x +0,5=0,1x— 0,4 [-10 e)6u +34,8=348+5u [- 10
tvesz ¥ -l x5 COm+360= 3P + 50 40, |50~ =349
3x=~9 [:% fouw=0 [:10
x:-'% A = 0
LED=04-(0+05-12405:-02  L(0)=60t%%e<34¢
PER=01(D)-0%2-03-04=-07  T(V=34P+50-347
L(%)=P(2) L(o)="Plo)
c) 7.(z+8)=6.(7 +2) f)3.(y$4)+5=2(2y-1)+16
Yo 456 = 42162 [-62-5¢ Syetres= ¢4 -2 476
A= 14 Sye12 = 4y 11 [~87~7
35
LCAG)= L Crsmd)~2-L0)= 42 2if
NS  L(3)=3(3)+5=3-Yr5
- = 6 . (- zbh~Z )=
PCte )< 6-LEH1)]=6-LE)=41 Mgt
L(-1%) ~PC14) 82231 16=2-(6-1)»
+16 72515 = oLy
X{14

((3)=T(%)




